ARNTEREFSREHFEHT - AOKEFR

Trk26FE7AKRBHE
Trk26%7HXKH BE CIIZES
HEE 5 = H X5 HEHH 58 z 5
BAAEEAAQD 27,037 34,819 37,248 72,067 BAAERAAQD 27,000 34,786 37,218 72,004
SNEAERAO 185 226 235 461 SNEAERAO 184 223 236 459
KENMAB 27,222 35,045 37,483 72,528 KENHAB 27,184 35,009 37,454 72,463
BARAGFE#TE - AOKFE (IBARZRHET) BXRAGERHH - AAKEE (BB
THU I R R i e 5 & 3 FTH I 4 BR R i 8 z 5 (BH#) (BEH)
AR ;2 T hisk AR EHET 1,073 1,417 1,399 2,816 B — Al =2 252 300 337 637 X% HEH 5 z it X5 HE L3 T S
KiEHhisg Kig 798 901 932 1,833 o b ¥ /N 121 160 167 327 HWmE—TH 790 881 987 1,868 wu&aE—THB 21 33 26 59
2 T 75 Hh 35 AKHET T 204 208 230 438 =H 114 147 162 309 WEZTH 558 671 751 1,422 WUE=TH 0 0 0 0
ZA T B Hh 3 N 882 1,006 1,064 2,070 A T S B 71 90 104 194 WE=TH 264 332 375 707 WILE=TH 0 0 0 0
TR s TR 1,028 1,249 1,393 2,642 KEf 203 248 248 496 WEMTH 201 253 291 544 WILEMTHB 0 0 0 0
T/ E i H/E 476 562 603 1,165 EEFE 18 27 27 54 WEATH 773 1,023 1,148 2,171 BWILERTHB 0 0 0 0
K2 A EELW 194 224 268 492 FAFTET 176 178 219 397 FENARTH 88 117 121 238 WILEARTE 0 0 0 0
ma 103 156 155 311 T Hh i FhTET 125 140 157 297 W&EtTH 185 249 265 514 wWLUEtTH 207 296 301 597
iR ithig iR 258 320 364 684 L FrHET 130 173 162 335 HES—TH 0 wWILE/NTB 0 0 0 0
AR s ZAR 1L 93 107 139 246 Fa ET 177 219 264 483 HEEZTH 233 319 322 641 WILEATE 0 0 0 0
KE 839 980 999 1,979 PHHET 16 22 29 51 HEEB=TH 8 10 9 19 wua+TE 53 79 81 160
At 2 FE #hiz ZzE 442 507 514 1,021 o = Hhizk HRET 38 32 46 78 HEEMTH 0 WLE+—TH 1 4 5
ot B st i 160 194 190 384 BRHET 102 118 127 245 HESRTH 294 354 405 759 BWuE+=TH 0 0 0
i) i 188 214 235 449 % 82 79 112 191 HEBARTH 174 225 250 475 BWUE+=TH 0 0 0 0
4 this He 2,859 3,526 3,938 7,464 RifiFE 138 152 189 341 HEELTH 346 402 450 852 INEt 282 412 409 821
HZE A Hhis HES 1,691 2,072 2,294 4,366 AR o ERE—TH 51 57 70 127 HES/NTH 370 475 520 995 =1 11,454 15,810 16,690 32,500
A2 &g R2)IE1~4TH 775 971 1,082 2,053 BRE-TH 285 330 360 690 MEABNTHE 266 287 338 625
a2 & Ki2)I185~9T B 1,490 2,339 2,350 4,689 ERE=TH 44 64 71 135 AZN&—TH 333 403 455 858
W B & Hhis MWERE 2,175 3,194 3,289 6,483 il 65 64 72 136 KEZJNEZTH 96 120 133 253
¥ 35 A Hhig mES 2,182 3,296 3,328 6,624 izt 36 24 39 63 KZJNE=TH 346 448 494 942
LA Hh i wIlE 282 412 409 821 it 39 51 57 108 KZJNEMTH 0
=11 18,192 23,855 25,175 49,030 hnyE R ER iz INGE 59 57 63 120 KENEBEETHE 244 410 396 806
INST 78 75 80 155 KZ)IEARTE 555 812 799 1,611 (FH)
BARAFREHE - AOSEETF (IHIWLHEET) 447 80 86 105 191 R2NEETH 328 506 517 1023 X4 ik 5 % s
(LI EH 27 37 40 77 KENEBE/NTBE 363 611 638 1,249 mmEae—TH 161 202 211 413
1T I 4 BRI L 5 = &t HERE 103 108 125 233 KEINEATHE 0 mmE&e=TH 140 155 176 331
5 F st tisE 180 252 300 552 fit] W} 118 148 152 300 MWREE—TH 486 745 721 1,466 EMEXE=TH 139 155 179 334
[Fap il 413 579 602 1,181 TR 99 113 145 258 MREEZTH 123 191 195 386 AmEemTH 114 131 148 279
A6 3 B #thig FEE 390 571 578 1,149 [i] 45 52 56 108 MEE=TH 240 352 382 734 EMXEETH 56 66 68 134
T E i MTE 658 891 910 1,801 HRIR Hhig H 33 39 40 79 MREMTH 257 350 382 732 mAMmXEaNTH 162 189 208 397
HEF 59 62 87 149 BRI 66 70 89 159 MWRERTH 260 396 402 798 mmEaetTH 150 187 211 398
= BE i deiAT R 131 177 196 373 IhEF 72 83 98 181 MWMEENRTH 319 451 455 906 mmxa/\TH 185 223 240 463
B 226 347 376 723 mp 36 47 53 100 MWREETH 272 417 431 848 mAMXaEATH 186 215 240 455
e 45 45 69 114 L3 G 36 4 45 86 MWRE/NTH 218 292 321 613 mmEae+THE 181 209 235 444
+A1 52 76 86 162 b=pie) 36 41 46 87 wmEE—TH 261 320 318 638 mmEse+—TH 250 308 318 626
EI\2 133 161 213 374 B/ 13 17 18 35 BEE-TH 350 534 508 1,042 mEmnEe+=TH 215 282 290 572
IRt &R i £33 73 102 130 232 N 5 6 5 11 BEXE=TH 344 549 572 1,121 mmEae+=TH 155 184 205 389
R4 54 71 81 152 7/ 31 44 45 89 HwEEMTH 278 427 451 878 mEmnEE+mTH 123 155 180 335
a5 99 145 140 285 BTF 21 29 27 56 BEERTH 363 566 594 1,160 mAnEae+aETH 136 181 168 349
tiae 147 170 201 371 4 2 ik ETF 16 21 22 43 BESNATH 307 535 525 1,060 A5t 2,353 2,842 3,077 5919
37 68 92 83 175 3 9 13 11 24 mEELtTH 279 365 360 725
LRt ithig EIA8 95 126 124 250 =2E 8 6 10 16 wmEE/NTH 0 0 0 0
ti¥a9 112 138 154 292 i35 6 6 5 11 INET 11,172 15,398 16,281 31,679
tJR10 88 110 131 241 PNy i 14 11 17 28
WEXN 26 25 23 48 it 31 45 51 96
= REX S 5 5 6 11 [R5 48 57 79 136
LR 65 50 60 110 FIN% & g Emxs 2,353 2,842 3,077 5919
=11 3,119 4195 4,550 8,745 =1l 5,726 6,769 7,523 14,292




